RESOLUTION NO. 2023-059

RESOLUTION OF THE TOWNSHIP OF LITTLE EGG HARBOR, COUNTY OF OCEAN, STATE OF NEW JERSEY, AUTHORIZING THE EXECUTION OF CHANGE ORDER NO. 1 TO THE CONTRACT FOR MYSTIC ISLAND WEST PHASE 1 AND ATLANTIS MAINTENANCE DREDGING PROJECT TO JPC GROUP INC.

WHEREAS, a contract was previously awarded to JPC Group Inc. for Mystic

Island West Phase 1 and Atlantis Maintenance Dredging Project; and

WHEREAS, the original contract for said improvements was in the amount of \$9,350,000.00; and

WHEREAS, the governing body wishes to authorize Change Order No. 1, which will result in a decrease of \$65,609.91 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 0.70% decrease for a new total of \$9,284,390.09; and

WHEREAS, this change order has been recommended by the Township Engineer; and

WHEREAS, it is the desire of the governing body to authorize the execution of this change order.

NOW, THEREFORE, BE IT RESOLVED, by the governing body of the Township of Little Egg Harbor, County of Ocean, State of New Jersey as follows:

1. That the governing body does hereby authorize the execution of Change Order No. 1, which will result in a decrease of \$65,609.91 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 0.70% decrease for a new total of \$9,284,390.09.

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732,363,0777 f: 732,905,6555

- 2. That the Mayor is hereby authorized to execute and the Township Clerk to attest to, respectively, an addendum to the contract with JPC Group Inc., in accordance with the provisions of this resolution.
- 3. That a certified copy of this resolution, together with a copy of Change Order No. 1, be forwarded to the Chief Financial Officer, Township Engineer and JPC Group Inc.

CERTIFICATION

I, KELLY LETTERA, RMC, Municipal Clerk of the Township of Little Egg Harbor do hereby certify that the foregoing resolution was duly adopted by the Township of Little Egg Harbor Township Committee at a meeting held on the 12th day of January, 2023.

KELLY LETTERA, RMC

Township Clerk

Little Egg Harbor Township

rmshc

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

ADDENDUM TO CONTRACT

THIS ADDENDUM made this	day of	, 2023,
by and between the TOWNSHIP OF LITTLE EG	G HARBOR, a munici	pal corporation of
the State of New Jersey, having its principal office	es located at 665 Radio	Road, Little Egg
Harbor, New Jersey, 08087, hereinafter referred to	as "Township," and JP	C GROUP INC.,
having it principal address at 228 Blackwood-Barnsb	oro Road, Blackwood, I	New Jersey 08012
hereinafter referred to as "Contractor."		

WITNESSETH:

WHEREAS, a contract was previously awarded to JPC Group Inc. for Mystic Island West Phase 1 and Atlantis Maintenance Dredging Project; and

WHEREAS, the original contract for said improvements was in the amount of \$9,350,000.00; and

WHEREAS, the governing body wishes to authorize Change Order No. 1, which will result in a decrease of \$65,609.91 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 0.70% decrease for a new total of \$9,284,390.09; and

WHEREAS, this change order has been recommended by the Township Engineer and agreed to by the contractor.

NOW THEREFORE, be it agreed between the parties as follows:

1. The Township and the Contractor do hereby amend the original contract between the parties for the Mystic Island West Phase 1 and Atlantis Maintenance Dredging Project to provide for a net decrease of \$65,609.91 in the contract price, to a new adjusted total

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

of \$9,284,390.09, representing supp	lemental work and final as-built quantity adjustments as
shown on Schedule A attached heret	o and made a part hereof.
2. That the parties do	hereby authorize the execution of this addendum.
WITNESS & ATTEST:	TOWNSHIP OF LITTLE EGG HARBOR
	Ву
KELLY LETTERA, RMC Township Clerk	BLAISE SCIBETTA, Mayor
	JPC GROUP INC.
	of Coron inc.
	By
Secretary	President

r|m|s|h|c

(Seal)

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

CHANGE ORDER NUMBER - 1 (FINAL)

MYSTIC ISLAND WEST PHASE 1 & ATLANTIS MAINTENANCE DREDGING PROJECT Project Municipality TOWNSHIP OF LITTLE EGG HARBOR County OCEAN COUNTY Contractor JPC GROUP INC. 228 BLACKWOOD-BARNSBORO ROAD BLACKWOOD, NJ 08012

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

CHANGES BASED ON AS-BUILT QUANTITIES

BASE BID - 7 FUE 8 ORI 9 TRA 10 DIS ALTERNATE 5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° >	ENTAL WORK - MYSTIC ISLAND WEST PHASE 1 EL PRICE ADJUSTMENT REDGE SPOIL EXCAVATION ANSPORTATION OF DREDGE SPOILS SPOSAL OF DREDGE SPILS E BID 'A' - ATLANTIS ABLIZED CONSTRUCTION ENTRANCE EL PRICE ADJUSTMENT	81,185.45 229 229 229 120 1,310.96	DOLLARS CY CY CY SY DOLLARS	\$1.00 \$31.75 \$19.18 \$17.25 \$68.40	\$81,185.45 \$7,270.75 \$4,392.22 \$3,950.25 \$8,208.00
7 FUI 8 OR 9 TR/ 10 DIS ALTERNATE 5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° >	EL PRICE ADJUSTMENT REDGE SPOIL EXCAVATION ANSPORTATION OF DREDGE SPOILS SPOSAL OF DREDGE SPILS E BID 'A' - ATLANTIS ABLIZED CONSTRUCTION ENTRANCE	229 229 229 120	CY CY CY SY	\$31.75 \$19.18 \$17.25 \$68.40	\$7,270.75 \$4,392.22 \$3,950.25
8 ORI 9 TR/ 10 DIS ALTERNATE 5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° >	REDGE SPOIL EXCAVATION ANSPORTATION OF DREDGE SPOILS SPOSAL OF DREDGE SPILS E BID 'A' - ATLANTIS ABLIZED CONSTRUCTION ENTRANCE	229 229 229 120	CY CY CY SY	\$31.75 \$19.18 \$17.25 \$68.40	\$7,270.75 \$4,392.22 \$3,950.25
9 TRA 10 DIS ALTERNATE 5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° >	ANSPORTATION OF DREDGE SPOILS SPOSAL OF DREDGE SPILS E BID 'A' - ATLANTIS ABLIZED CONSTRUCTION ENTRANCE	229 229 120	CY CY SY	\$19.18 \$17.25 \$68.40	\$4,392.22 \$3,950.25
10 DIS ALTERNATE 5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° >	SPOSAL OF DREDGE SPILS E BID 'A' - ATLANTIS ABLIZED CONSTRUCTION ENTRANCE	229 120	CY SY	\$17.25 \$68.40	\$3,950.25
ALTERNATE 5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° 2	E BID 'A' - ATLANTIS ABLIZED CONSTRUCTION ENTRANCE	120	sy	\$68.40	
5 STA 7 FUE REDUCTION BASE BID - 5 STA 13 6° >	ABLIZED CONSTRUCTION ENTRANCE	120		7(3)(3)(15)	\$8,208.00
7 FUE REDUCTION BASE BID - 5 STA 13 6°)	41 TO 191 THE THE SHE WIND SHE THE THE THE SHE SHE WAS A TO SHE THE SHE SHE SHE SHE SHE SHE SHE SHE SHE S	0.000000		7(3)(3)(15)	\$8,208.00
REDUCTION BASE BID - 5 STA 13 6° >	EL PRICE ADJUSTMENT	1,310.96	DOLLARS	10 20 20 20 20 20	
BASE BID - 5 STA 13 6" >				\$1.00	\$1,310.96
5 STA	N.				
13 6° >	MYSTIC ISLAND WEST PHASE 1				
2002	ABILIZED CONSTRUCTION ENTRANCE	145	SY	\$42.00	\$6,090.00
14 RO	X VARIABLE HEIGHT CONCRETE VETTICAL CURB	50	LF	\$134.50	\$6,725.00
	ADWAY RECONSTRUCTION	2,000	SY	\$15.65	\$31,300.00
ALTERNATE	E BID 'A' ATLANTIS				
8 DRI	EDGE SPOIL EXCAVATION	1,638	CY	\$31.75	\$52,006.50
9 TRA	ANSPORTATION OF DREDGE SPOILS	1,638	CY	\$10.00	\$16,380.00
10 DIS	SPOSAL OF DREDGE SPILS	1,638	CY	\$15.08	\$24,701.04
13 6" X		50	LF	\$134.50	\$6,725.00
14 ROA	X VARIABLE HEIGHT CONCRETE VETTICAL CURB	30		\$560.00	\$28,000.00

EXTRA WORK

Amount of Original Contract \$106,317.63 \$9,350,000.00 Supplemental/Extra Reduction \$171,927.54 Adjusted Amount Based on Change \$9,284,390.09 **Total Change** \$65,609.91

Orders % Change in Contract 0.70%

Worth D.E. Township-Eagen

(Presiding Officer)

((+) Increase or (-) Decrease]